1888 s .05 @dd sp,sp,-16 int main(void) {
1884 .02 sw zero,12(sp) int dice = 8;
1888 o wee: 11 @5, [

1812 w2 sw ab,12(sp)

1816 weioes lw 34,12(Sp) \\\“‘::::\\\ start:

1828 09,608,87,93 ]. j. aS ; 5 \\5:::=>; dice = E;
18024 % 60 beq :':14, 35, 1832 # +8 . |
if (dice !'= B) {

1028 cow j 1008 # =20 2oto start,
1832 w.eoe0s NOP T,

1836 wwwmes 11 a5,
1840 .2 sw a5, 12(sp) S
18044 o200 1w 84,12(SD) \\\::\:\\\ mountain:
1848 oo 11 a5,2 IR

1852 ... DIt a5,a4,1872 # +20
1856 w002 NOP

dice = [H;
if (dice < 3) {

asm("nop");

16866 as,00,00,13 [10P asm("nop");
1864 600015 nop I asm("nop™) ;
1868 w6 00.00.60 JI 1876 # +8 _/,,——”’—’— b else {

asm("nop");

1872 w002 NOP

1876 wowws li a5, E
1888 w22 sw a5,12(sp) Tl
1884 w2 lw ad,12(sp) lake
1888 wwws 1i a5,4

¥

dice = EH;
18092 «.~..: bne a4,a5,11808 # +8 if (dice == 4) {
1896 «orvwer j 1WOB $#-88 goto start;
1188 w.ooes NOP }
1184 wwes 11 a5, H
1188 sz sw a5,12(sp) castle:
1112 wonw lu ad,12(sp) I e Lo

if (dice == 5) {
goto start;

} else if (dice == 2) {
dice = [H;

1116 wwws 11 a@5,5

1120 .+ bne a4,a5,1128 # +8
1124 «.ne j 1008 # -116

1128 w2 lw ad,12(sp)

1132 wwwms 11 @5, 2

} else {

goto castle;

1136 «~uw.. bne ad4,a5,1184 # -32 }
1149 98,70,87,93 ]. j. 55, -7 //
1144 v8,71,26,23 Sl 35 ; 12(5':]) /’/ return @;

1148 o 11 a5,0 L2
1152 wwew: My aB,as T
1156 we0.o @dd sp,sp, 16
11668 wowews ret

1164 w0000

1168 wo.0.00.00

1172 eo.00.00.00

1176 oo.0.00.00 PROJEKT: INITH
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